N = 1 B YPHE
BB S h R T EREE )
T f | A | EEEES TN
ETEMAESE TE BEES2EHR  FERAET KM
Y T
SHEERRYIKT  t=5cm (100. 8+0. 4+0.5) +10. 2 = 111.90 111. 00
TR m
AR B L T TEHEENS = 55.46 55. 00
m2
FEMTEM A s B 55. 46%0. 05 = 277 2.00
L =11.2km m3
ColuEL K@ NS  0.05+0. 3 = 0.35 0. 30
M Co (GRIBFTKEE « AHCo) m3
ColuEL XA 4. 0+0. 6+0. 2+0. 06 = 4.86 4. 00
g (BERR U - CoZ) m3
BEME:  Cobl XIHE2 5 = 0.35 0.30
L=11.2km Z%&f%Co m3
BEMER:  Cobl XIE2 5 = 4.86 4.00
L=11.2km &% m3
Gl T TEHEENS = 80.80 80. 00
m3
BERA MR T TEHEENS = 30.24 30. 00
m3
MR (RC-40) T TEHEENS = 20.16 20. 00
m3
7 - IE 80. 80— (30.24/0.9) = 47.20 47. 00
fE& L =2.0km m3
R vy = 47.20 47. 00
m3
R IE KiiAN5 0. 67%100. 0+0. 9%0. 9 = 67.81 67. 00
m2
BEAS JLER 2
BERS AL B 2. 77%2. 30 = 6.37 6. 40
A s 3 t
BEM AL AT C o 0. 35%2. 35 = (.82 0. 80
C o t
BEAALER TR 4. 86%2. 50 = 12.15 12.20
C o t
RV T
BhE 1 B A B = 100. 00 100. 00
300%400%2000 m
LA t=10cm 0. 67m*0. 1m*100. Om = 6.70 6. 70
RC-40 £# :0.67n/10m>Y m3
HfECo  t=bcm 0. 57m*0. 05mk100. Om = 2.85 2.90
18-8-25BB £# :0.28n/10m4 m3
AUN =hav))=p 0. 3%0. 05%100. 0 = 1.50 1. 50
18-8-25BB m3
TU—F v 7ERMN BEE |KERIZL V207 L—F = 20 20. 00
300/ L=1.0m T-20 K
e dEp piEa = 60 60. 00
300%!  L=0.5m T-20 K
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&= K EB ( 4eEE )
O LS FE O EEEE )
T & I 7 OE K BoE |
ek L
Pt0.0~0.8  |EE K = 1.0 1. 00
500%500%700 &P
BEVEF a7 ) — b (18-8-25BB) (0. 8%0. 8%0.85)-(0. 540, 5%0.7) — (0.3%0, 4%0. 15) — (0. 3%0.3%0. 15)  — 0. 34 0. 30
W/C=65%LL T m3
zE T (0. 8%0. 8%4)+(0. 5%0. 5+4)— (0.4%0.3) —(0.3%0.3) =  3.35 3.40
m2
z#E | A RC-40 0.9%0. 9 = 0.81 0. 80
t=15cm m2
HEARMA T L—F 7 = 1.0 1. 00
500%500 SR T-25 e
HEEEIRT
FBET t=5cm T TEEENS = 54.62 54. 00
AR AS20F m2
FEHAET  t=10cm T TEEENS = 50.32 50. 00
BIERAEA M-25 m2
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No. |3l (Pt) |mFEIEEEE BT E i T K& B E AR 5 X5 BT E i 1 K&
1 0.0 0.0 1.2 0.3 0.2
2 0.8 0.8 0.8 1 0.80 0.3 0.3 0.24 0.2 0.2 0.16
3 20.0 19.2 0.8 0.8 15.36 0.3 0.3 5.76 0.2 0.2 3.84
4 40.0 20.0 0.8 0.8 16.00 0.3 0.3 6.00 0.2 0.2 4.00
5 60.0 20.0 0.8 0.8 16.00 0.3 0.3 6.00 0.2 0.2 4.00
6 80.0 20.0 0.8 0.8 16.00 0.3 0.3 6.00 0.2 0.2 4.00
7 100.0 20.0 0.8 0.8 16.00 0.3 0.3 6.00 0.2 0.2 4.00
8 100.8 0.8 0.8 0.8 0.64 0.3 0.3 0.24 0.2 0.2 0.16
& 100.8 80.80 30.24 20.16

SHIERYIEL SHEIGEED tET

No. |3l (Pt) |mFEIEEEE & T EiE ] 4 miE & 1 EiE
1 0.0 0.0 0.4 0.3 0.3
2 0.8 0.8 0.5 0.45 0.36 0.5 0.4 0.32 0.5 0.4 0.32
3 20.0 19.2 0.5 0.5 9.60 0.5 0.5 9.60 0.5 0.5 9.60
4 40.0 20.0 0.5 0.5 10.00 0.5 0.5 10.00 0.5 0.5 10.00
5 60.0 20.0 0.5 0.5 10.00 0.5 0.5 10.00 0.5 0.5 10.00
6 80.0 20.0 0.5 0.5 10.00 0.5 0.5 10.00 0.5 0.5 10.00
7 100.0 20.0 0.5 0.5 10.00 0.5 0.5 10.00 0.5 0.5 10.00
8 100.8 0.8 0.5 0.5 0.40 0.5 0.5 0.40 0.5 0.5 0.40

R ith % 5.10 4.30
& 100.8 55.46 54.62 50.32




